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Note : 1. There are in all 30 Question in this question paper. All questions are compulsory.

2. the question paper consists of four sections A, B, C And D. Section ‘A’ contain 8 questions of
1 mark each, Section ‘B’ is of 10 question of 2 marks each, Section ‘C’ has 9 questions of 3
marks each, wheareas Section ‘D’ is of 3 question of 5 marks each.

3. Draw neat and labelled diagrams wherever necessary.

4. Start from the first question and proceed to the last. Do not waste time over a question, if you
can not solve it.

5. Write correct serial no. of question and the part of the question.

Yus ‘A’ (Section ‘A’)

RIS fhd Ped © ? 1
What is Biopiracy ?

JUITIAT &7 S b o W Rerd g 7 ? 1
Where the gene of colourblindness is located ?

T qAT el H gl YS9 2g UIeT BT I A1 AR YA H S Sl & 2 1
Which part of the plant is used for cultivation in sugarcane and banana ?

31 QUi I & =1 falay ? 1
Name two acquired diseases ?

ELISA &1 IRT 9™ foRey ? 1
Write full name of ELISA ?

59 was F uHRafed e & SRl & 2 1
From which fungus the Penicillin has obtained ?

HECRI T § 7 1
What is Metastasis ?

WTSHIHT BT 3N Aged T § 2 1

What is the economic importance of Spirulina ?
s ‘¥ (Section ‘B’)
Ul |elte 1 &1 Sl 2 6 SoiaRe @ gl &1 <1 Afdadl & e deeR & w9 § A

T foar g ? 2



Why sharing of injection needles between two individuals is not recommened ?

10. S1ou0v0 R T & BIg TR SUINT farfey ? 2
Write any four uses of DNA Finger printing?

11. IEPIY] DI T2 Hifdhd oy a8y ? 2
Draw a well labelled diagram of sperm ?

12. 9181 UQYYT DI HH P & IR U forkey ? 2
Write four majors to reduce vehicle pollution ?

13. SiaTeA a1 8 ? sl Shiared &1 g fohd fafdl | sa &1 S |ad! © 2 1+1=2
What are fossils ? What are the methods to calculate age of fossils ?

14. THORMROTYAOTO 3R EI03ROTAOT0 H 3R W ISy ? 2
Differentiate between mRNA and tRNA ?

15. TSl T BIRIMGT Bl FH3SY ? 2
Explain allergy and carcinogens ?

16. Bt U R wfera fewofy forkey ? 2
Write short note on Bt cotton ?

17. O] dlfed At SUAR H G Sirdl I T HdT § 2 2
What is the role of micro organism in seavage treatment ?

18. WqTel YR T & ° SHDI g9 AT qargd | 2 What is

algal bloom ? Also define its effect .
Wug ‘¥ (Section ‘C’)

19. HeX & 3I oW Ul & 41 HHRT B WR UST B dTell | o aiF off | VAT &8 ¥ 8l
Ahdl 2| geIe 9 a1 FErdar | &y ? 3
In a cross between two tall pea plants, some of the offsprings produced were dwarf. How this is
possible ? Show with the help of punnett square.

20. fordell, TS Td Uell & URg IS BT B B © (] R W I FHIRT FT R HEad 22 3
Wings of butterfly, Bat and Birds act as flying, but however these are called analogous organs ?

21. BAR |ATS H TS(Bdl Bl S o H ARt Bl SR A ST & | 91 gH $9 8RO Pl
Ted g PR Fahd B ? 3
In our society woman are blame to give birth to daughters. Can you explain why this is not
correct ?

22. {91 &Y oY — 1+1+1=3
(i)  HTEDRISSI
(i)  Oferogm

(iii) ST BIRIBT IRFAT
Explain following-

(i)  Mycorrhiza

(i1))  Palindrome

(i11)  Sickle cell anaemia

23. URYF YU & Weg AMifhd & 9918y ? 3
Draw a well labelled diagram of endosperm ?

24. (i) YRSIHT T Ao A~ g9 S 7 faeivyar off ? 2
What is the special feature of milk of transgenic cow Roji ?
(i) MO @1 E ? 1
What is Methanogens ?

25. AT H TG HUATY T AT (5 bR SET Ifg H A8d © 7 3

How misconceptions and malcustoms present in society are helpful in population growth ?



26.

27.

28.

29.

30.

FJAEGD I HG T H T AR & 7 3
What is the difference between Menstrual cycle and Estrous cycle ?
a1 (OR)

TTURIE 3TN  DHRAATH DI TRATET HIQ |
Explain, what is Idiogram and Karyograph.
qreld RS & UHE oldig BRI & A ol ? 3
Write the name of main biotic factors of pond ecosystem ?

Wus ‘g (Section ‘D’)

(i) & S99 93 &1 Wew AMifhbd 7 a918d ? 3
Draw a well labelled diagram of female reproduvctive organ ?

(ii) BT S[CTHA T PIeITH Bl T DI ? 1+1=2
Explain corpus luteum and colostrums ?

311 (OR)
T RS U @& g € ? At yeR @ RS Sural &1 auie Hifeg |
What are contraception ? Explain different method of contraceptions.
Ag=sRerd Td P AFG B AT BT, 779 F DI AT 3MSl & Ad & 3fd A T,
3R i ? 3+1+1=5
Compare Neanderthal and Cromagnen man. Out of both who is more nearest to present man and
why ?

31erdr (OR)

Jrgavell ufafaifieor | My a1 HHsId € ? Ao Ud Ield o YA gRT o4 g fdar ?
What is semi-conservative replication ? How did Meselson and Stal prove that by experiment ?
I} gdTSI— 1+1+1+1+1=5

(1) SR 9 grH-q

(i1) U< d g-ddh—<

(iii) qol T URSIET 9 qui Jet ool

(iv) STURNT 9 T<larSIal

(V) YUThIY d YordIy
Difference between-
(1)Zoospore and Zygote
(i1) Rhizome and Corm
(iii) Total stem parasite and Total root parasite
(iv) Interferons and Antibodies
(v) Embro sac and Endosperm

31erdT (OR)
U9 ThOT AT BT © 2 DI & YU FhUT BT guie IOl |

What is nutrient cycling ? Discuss the Carbon cycle in nature. 5




